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CHAPTER 1
MONOLITHS APPLICATIONS ARE REAL



MSA KILLER APP
The services are easy to replace

Services are organized around capabilities

Services can be polyglot

Architectures are symmetrical rather than hierarchical



CHAPTER 2
SOLVING THE PROBLEM THE "STANDARD" WAY



APPLICATION CONTAINER



APPLICATION CONTAINER
Security

Threading

Transaction Management

Load balancing



CONTAINER API



PERFORMANCE
Blocking

Thread safety

Locking

C10K



SCALE
Load balancer

Sticky sessions

Single point of failure



WHY CAN'T THIS SCALE?



CHAPTER 3
HELLO VERT.X



http://vertx.io/


TOOLKIT
<dependency>

    <groupid>io.vertx</groupid>

    <artifactid>core</artifactid>

    <version>3.2.1</version>

</dependency>



UNOPINIONATED
import io.vertx.core.AbstractVerticle;

public class Server extends AbstractVerticle {

  public void start() {

    vertx.createHttpServer().requestHandler(req ­> {

      req.response()

        .putHeader("content­type", "text/plain")

        .end("Hello from Vert.x!");

    }).listen(8080);

  }

}



REACTIVE
conn.query("SELECT * from EMP", res ­> {

  if (res.succeeded()) {

    ResultSet resultSet = res.result();

  } else {

    // Failed!

  }

});



POLYGLOT
vertx.createHttpServer()

  .requestHandler(function (req) {

    req.response()

      .putHeader("content­type", "text/plain")

      .end("Hello from JS Vert.x!")

}).listen(8080)



DISTRIBUTED
EventBus eb = vertx.eventBus();

eb.consumer("news.sport", message ­> {

  println("I have received a message: " + message.body());

});



CHAPTER 4
VERT.X SAVES THE DAY



VERT.X API



C10K? NO PROBLEM!



HOW IS THIS POSSIBLE?



REACTOR PATTERN





SCALE



POINT TO POINT



PUBLISH SUBSCRIBE



REQUEST RESPONSE





UNLIMITED HORIZONTAL SCALING





CHAPTER 5
MONOLITHS WATCH OUT!



MONOLITHS MORTAL WEAKNESS
Message driven problem domain

HTML5 and Realtime/Websocket problem

Address services running on browsers

Flexible actor model

Scale out

Mixed async and blocking code



NO COMPARISON



NOT DEAD YET



CIRCUIT BREAKER



CIRCUIT BREAKER



DON'T FORGET!







THANK YOU!

Vert.x is fun!

http://vertx.io

https://github.com/eclipse/vert.x

https://github.com/vert-x3/vertx-examples

https://groups.google.com/forum/#!forum/vertx

http://vertx.io/
https://github.com/eclipse/vert.x
https://github.com/vert-x3/vertx-examples
https://groups.google.com/forum/#!forum/vertx


WHY MICROSERVICES MIGHT 
NOT BE FOR YOU!

THE SHORTLIST OF ESSENTIAL QUESTIONS

@noroute

THREE



SURVIVORSHIP 
BIAS
IS THE LOGICAL ERROR OF CONCENTRATING ON THE 
PEOPLE OR THINGS THAT "SURVIVED" SOME PROCESS AND 
INADVERTENTLY OVERLOOKING THOSE THAT DID NOT 
BECAUSE OF THEIR LACK OF VISIBILITY.

— Wikipedia



APPLICATION 
PERFORMANCE

QUESTION #1
THINK UX!

https://en.wikipedia.org/wiki/Computer_cluster#/media/File:MEGWARE.CLIC.jpg


Pr
ic
e

Performance

COST



MEM REF

SEND 2K

DC ROUNDTRIP

0 125000 250000 375000 500000

“LATENCY IS ZERO”



https://www.flickr.com/photos/diversey/24011850854/in/photolist-CzR1Gw-CQL7V-iRuuhD-7rqrFR-obSQG4-4rcbpJ-6WMvwv-dr1jfS-dr191T-dr1i39-dr17T8-71NvrV-cb23Lo-CWoTB-7StBmu-VmmV-4ui6q2-3aYLLQ-cRTZm7-56J9Pz-4B9wTn-6JU5xy-q75HK5-3wQaF-oBiuP-NgK2W-NgK2C-5Rxxki-5RxwJK-NgK35-cxC4MS-NgK2o-NgK2u-NgK25-egvxnS-9tLBbm-7cgnKN-9LUy8S-66XZgK-7WsU1f-5jCesL-77h8tz-mUTm48-9YFFjd-99h8pz-5NY8FT-6JEdCA-foPQEq-5XdHWS-7gJyXk




COMPLEXITY
CONSIDERATION #2

https://www.flickr.com/photos/andrewfhart/8106200690
https://www.flickr.com/photos/kovah/15330981339/in/photolist-pmKhCt-pD1S7t-8Nqfwk-pmLUsa-4wuofP-bKPeXv-pDk95f-cAswSW-cAswZb-vCX6Ws-7UyBLT-cH6Jk3-ByUZm-61QHcU-9M2QU4-5ZWGsP-dCjBmD-wuu37e-xqxEs9-xqxEoS-wuu34P-4irjHz-uJnQNr-6xY3mv-6Ky2vw-vDrB3b-648JRV-9VwzJV-bxxpdf-61GDG1-9hnXQH-9XQ2W3-gYnnPg-dPcqJ1-fkAZw8-7aaDP9-voF4oG-voFcPC-9VzvPA-6HPouy-5ziMs2-5zo4gC-9htwN2-8pgk4a-5ZiAfZ-9pPZ6r-auohod-e4H388-cyNqNJ-bAFqqi


TOOLS



PLUMBING

https://www.flickr.com/photos/matte4president/7191011302/in/photolist-bXrP8u-74Hg6R-d3LTpW-5vmZ5c-3c2jSX-d3Mgxw-hSQbnc-nzL4N7-8Z8X1d-oqn7nM-vione7-AW5H2b-ahn43p-afSnsf-d3MbtJ-ddkaNv-m6oS9r-fdHCHC-2B5CiR-7tzVKr-9Y4GCN-761mUv-9dr6XJ-4ShHst-4E23Yw-53RpU2-d3Mufo-2Xh12-d3MDsU-d3MuJo-d3Mt2m-d3MtRb-7tzVXM-dfnv9L-aHYpfr-DXKkv-d3XiPA-4HZ1yV-6t2BQg-48rMj-CHdx9A-9zXxgM-o5GwDx-8Z8Xvf-onbcWP-omTM7B-ooW3zX-bb5NHH-bb5NBt-bb5NtR


“THE NETWORK IS 
SECURE”

http://www.grahamlea.com/wp-content/uploads/2015/03/Fake-Architecture-Diagram.png


SECRETS 
MANAGEMENT?



DEVELOPMENT VELOCITY
CONSIDERATION #3

https://www.pexels.com/photo/apple-norms-size-standards-3301/
https://www.flickr.com/photos/68711844@N07/15638334378/


PRODUCT TEAMS



PARALLEL 
DELIVERY



UNIT

COMPONENT

INTEGRATION



INTEGRATION

CONTRACT

UNIT

COMPONENT



CONSUMER SERVICECONTRACT

CDC



TAKE HOME
1. What architecture is compatible with your UX? 

2. How can you establish defence in depth for 
your services? 

3. How do you enable high delivery velocity with 
high quality?
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